MM RS IRERERE (FR2743A10B~12H:RHE)

- = W5t fE=E (1 Sv/h) [EERES
NO AEEFH 1icm 50cm 1.0m NHE
1 A—4 HARI#AO 0.48 0.45 0.42 =
2l B—8 |[#HAMKEE 0.53 0.41 0.34 S
3] B—4 |m/miEfhHE 0.63 0.49 0.29 S
4 B—5 [HBARLE 0.13 0.12 0.09 F O
5/, B—5 [athhAREE 0.14 0.14 0.12 B O
6] B—5 |ERGEM){HE 0.22 0.17 0.15 BEh O
71 B—5 [kEFDfhE 0.15 0.16 0.16 B O
8] B—5 [FEH%ER 0.12 0.14 0.12 BEh O
9] B—6 [THHALESE 0.13 0.14 0.14 = @)
100 B—6 [TFHJIHHE 0.17 0.14 0.12 S
11 B—6 |[FHEMBERESROFO) A 0.13 0.11 0.13 ES A
12 B—6 |HE{fHE 0.27 0.27 0.24 BEh
13] B—6__ [dlgifhi 0.39 0.36 0.31 £
14 B—6 |FHHABHE 0.45 0.31 0.28 S
15 B—6 |M/EAREERI 0.17 0.19 0.19 Bh
16 B—6 |XKIRELEFR 0.13 0.11 0.13 BEh O
17]  B—7 |'NAEFHIR(ERTEE i) 0.18 0.17 0.17 = @)
18/ Cc—3 [hFARMEAAO 0.23 0.25 0.26 =
19 C—3 [|$%/Ar=&Hih AOfHE 0.23 0.29 0.22|E(EE A
200 C—4 |[#BOLU#A 0.48 0.32 0.26 S
21 C—4 | FHX(BFHMEE ) 0.25 0.25 0.19|E(EE
22| C—4 [PK#EfHE 0.42 0.36 0.27 S
23] C—4 |PXKITI—a92 (BNE) (1) 0.12 0.14 0.11 F O
24| C—5 [BEENERfE 0.14 0.15 0.15 i A
25 C—5 P LU E Hh i 0.16 0.16 0.16 =) O
26 C—5 |X£F 1.48 0.92 0.78 =)
27l C—5 [TFEEEHNA 0.75 0.41 0.29 BEh
28] C—6_ |5OFEALE 0.29 0.27 0.25 S
29] Cc—6 |EIALNEER 0.16 0.15 0.15 ES O
30 C—6 [fBILTIEM#ADO 1.05 0.62 0.42 3
31 C—6 [T ZEMihEKithisEEm 0.64 0.41 0.35 BEh
32l Cc—6 [LATULAERI 0.38 0.31 0.25 S
33] C—6 [MEHIF{HE 0.34 0.31 0.23 S
34| C—6 |FEIREEEIHSHZTH 0.11 0.12 0.11 =l O
35| C—6_ |IUTHREEAtE 2—(HEAH) 0.12 0.13 0.12 ED) O
36| C—6 [|[IUTESZERAEA 0.32 0.30 0.24 =
37l C—7 [N UNAVED 0.41 0.32 0.30|E(EE
38] Cc—7 |[XKEABE(E) 0.13 0.13 0.18 O
39 c—7 [|/NEEREZER 0.33 0.22 0.18
40 C—7 |{EHMFEEKIEMMIE 0.16 0.18 0.18
41 c—7 |EBFEAEREMTE 0.17 0.19 0.22 = O
42 Cc—7 I E R 0.47 0.39 0.28 =
43| C—7 |[EhEhh (BiE15) 0.29 0.31 0.33 &
4 C—7 | KRFHFBHIERFHA 0.50 0.32 0.30 &
45| C—8 [BBRGhHE) 0.29 0.34 0.28 &
46| D—2 [IBYY—rwkCCAO 0.26 0.36 0.33 =
471 D—3 [BXFE®RE 0.23 0.22 0.25 S O
48] D—3 [REARfEfHE 0.29 0.35 0.31|EHEE
49| D—4 |[SBh(ER) 0.21 0.20 0.15 = A
500 D—4 |EB4EAE/AHNK 0.21 0.27 0.25 =
51 D—4 | EPXRANEREE 0.12 0.12 0.18 S A
52| D—5 |[FihiEiE T 0.41 0.29 0.20 ES
53] D—5 [BEE/NER (EIEIFHD 0.10 0.11 0.12 £l O
54 D—5 |EB4A/NREER] 0.16 0.16 0.14 D) O
55| D—5 |IBEMRAEREER] 0.41 0.38 0.33 £l
56 D—5 |BE/BAOfHAE 0.24 0.29 0.25 =
5711 D—6_|{fORYILI SR 0.11 0.11 0.13 D) O
58 D—6 BFH—TU0E 0.13 0.11 0.11 ©)
5] D—6 |FirOE#A 0.27 0.24 0.20
60 D—6 Hit~s A+Fi& 0.57 0.44 0.26 A
61 D—6 |HEREIGEEN 0.55 0.37 0.29

*Bﬁ@m{q‘iﬁ@ﬁmsﬁ@iﬂuﬁaIiiﬂllitﬂﬁgggﬁwawmt B;EES?E
= = N i) %(MSV/h) o LS ,\: 5;
NO HEERTE 1cm 50cm 1.0m Krze NHE
62| D—6 [fafit EEFEkIE 0.46 0.38 0.32 £l
63] D—6 |EHW=—a—437  (E) 0.15 0.18 0.16 ED) O
64f D—7 |EBEAREFMA 0.14 0.18 0.18 BEh @)
65| D—7 |[FHERBEHUIE 0.18 0.15 0.17 BEh A
66/ D—7 [/NAEEH#R 0.33 0.36 0.36 Bh
67] D—7 |[2)IHhis 0.15 0.16 0.13 Bh @)
68| D—7 |EUILEE400mIESTE 0.19 0.24 0.24 Bh
69| D—7 [|H&EERAD 0.41 0.34 030 Eh
700 D—7 [EEBEEAE 0.30 0.26 0.24 Bh @)
71l D—7 |vIBIEETEGFHE 0.27 0.24 0.21 S
72| D—8 |TFRNGHHIE) 0.18 0.18 024] HBEh
73] E—2 [IFHEE 0.35 0.36 031[EGAE  1cm)
74| E—2 |EAFHFB 0.53 0.34 0.28| E(FEE 12cm)
75| E—3 |BR/EDihigE 0.28 0.30 0.27 =
76| E—4 |[BEAREEH 0.11 0.10 0.12 =) O
77 E—4 IBEX /RN REEH] 0.10 0.13 0.11 ES O
78 E—5 |FRRALFHE 0.24 0.19 0.19 =
79 E—5 |8k 0.27 0.21 0.18 £l
80] E—6 [—/Xi#A 0.50 0.39 0.32 Bh
81 E—6 | EEFER=FERMm A 0.49 0.41 0.39 Bh
82l E—6 [/NHEEHI4SAMA 0.20 0.19 0.16 Bh @)
83] E—6_ | KBOEYISUF 0.45 0.38 0.34 BEh
84| E—6 |[EEGEIHFAAA) 0.45 0.40 0.40 Bh
85 E—7 |FRERESEM R 1.48 0.71 0.47 BEh
86] E—7 |EIMSRAIEHAI 0.55 0.38 0.33 Bh
87 E—7 |ERAREER 0.13 0.15 0.15 BEh O
88 E—7 |[#ERARER+FIRME 0.34 0.26 0.19 BEh
89 F—4 [E/itfhk 0.28 0.21 0.18|BYEE 2cm)
90 F—4 |HREMREEL I—EIHISH 0.11 0.12 0.11|8YGEE  3em) O
91 F—4 |[HPaEE A gt 2 —HI 0.36 0.31 0.22 £
92 F—5 [BAMA#A(R289H/5500m% LKE) 0.34 0.22 0.24 Bh
93 F—5 |ZERARER 0.08 0.08 0.10 BEh O
94 F—5 |®Bt A2—ZEAI 0.72 0.38 0.27 BEh
95 F—5 |ZIEPIGHRBIETA/0h 0.16 0.17 0.17 BEh O
%6 F—6 |&LEEKHADO 0.25 0.24 0.24 Bh
97 F—6  |FIEHISET FiR 0.46 0.31 0.26 BEh
98 F—6 |E&H/\RXEiTE 0.19 0.22 0.26 BEh
99| G—1 TEZF (@ -XEXE) 0.11 0.13 0.09| £ (FEE 20cm)
100 G—3 |FAEX LEIEHIS 0.16 0.14 0.15| Y &= 10cm)
101 G—4 |EFEKGRERGFEISI{TIR) 0.25 0.32 0.24| Y38 5cm)
102 G—4 |FEIEMhk 0.22 0.21 0.19|8YGEE  1cem) O
103] G—5 [HREXAHCCEI&EHIF{ti - - -| ZZFF#Ht
104] G—5 [IFLEEEHhE 0.40 0.35 0.28 BEh
105 G—6 | XEBHEEFEHR 0.16 0.11 0.11 BEh O
106] G—6 [BEHFTFE 0.26 0.22 0.22 BEh
107 H—3 A 3 4 [R ithisg 0.13 0.12 0.12|BYEE  3cm) A
108] H—4 [FEEECAIILEES 0.09 0.13 0.10|ZE(FEE 15cm)
109] H-—5 |[EfRtELEEGEGEIITL) - 0.10 0.11|BNn(EE 30cm)
1100 H—6 | KERIFEHDE 0.15 0.15 0.16 BEh
111 1—3 FaooH (2) 0.05 0.08 0.05|E (&= 25cm)
112 1—4 BFaRIUYARTILAOMA - - 0.04| & (&= 140cm)
113 1—4 BADER () 0.04 0.05 0.04| E(EE 15cm)
114 1—4 BRORIr JiHAO - - —[nEnsEmLs
115 I—4 IBEHEREEFmEARSMm(KERHR) - - —| HIRE D AEITIESD
116 J—5 g ER - - —[enzos@mrs
117 K—=8 |HFroRILAOEFES - - 0.03| & (3&E140cm)
118 K—3 B ILIUTE — — 0.04| E(1/4) —
119] K—3 [BEAEfHHE - - 0.06] FE(11/4) —
1200 K—8 [REEEEHMA - — 0.05|EF FEE 90cm)
121 K—4 |li#E - — 0.14 9/7 —
122 K—4 |i#E — 0.05 9/7 —
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